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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Benenth each sentence you

will see four words or phreses marked (1), (2), (3), and (4). Choose the one word or
phrase that hest completes the sentence, Then mark yonr answer sheet,

Planets are really amazing but ......... . Do you know how they are different?
1) not go much alike 2) they are so much
3) aren't alike them 4) are much alike so
When I was a kid, I . .. to the roof of our house and see all other houzes and
sireets,
1) must chimb 2) could climb 3) was climbing 4) had climbed
.. tennig well takes a lot of time and practice,
1) I'm playing 2) By playing 3) To play 4) Play
There is always a worry at the back of my mind that if I sooner, the problem
would not have come up.
1) acted 2) had acted 3) might act 4) were acting
You must woemammmes that dead tree or it will fall on your house.
1) burst 2) reduce 3) die out 4) eut down
She does a lot of .ccsccccnsssoi. Work; she hny a good heart and always wants to help others.
1) polite 2) general 3) voluntary 4) successful
To study it in more detail, we need a picture that shows the insect's head ten
times,
1) magnified 2) increased 3) stood for 4) worked out

Spray is liquid seni through the air in tiny .wwwemm. giiher by the wind or some
inatrument.

1) tips 2) laps 3) drops 4) quinces
This should make enongh for eight . 80 we don’t have to be worried about
whether we’ll have four or five guests for dinner.
1) vases 2) crops 3) fonds 4) gervings
This bag helds a/am ....... amount, although the shape makes it look smaller than
the other one,
1) balanced 2) elementary 3) equivalent 4) uncertain
The House of Representatives was to members chosen in the different states in
numbers suitable to their population, but never fewer than five.
1) obey 2) consist of 3) recognize 4) transmit
This is a two-year course taught by . of lectures and seminars.
1) means 2) process 3) hint 4) ability
Part B: Cloze Test

Directions: Questions §8-92 are related to the following passage. Read the passage
and decide which choice (1), (2), (3), or (4) best fits each space. Then mark your

answer sheetf

Of all the visitors to New York City in recent years, ong of the most surprising was a
beaver .......ccoceeeene (88) one moming m 2007. Nobody knows exactly ......cocveennns (89)
from and Eric Sanderson explains that, ...........co...... (90) beavers used to be common in
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the area in the 17th cemtury, there haven’t been any for more than 200 years. For
Sandersorn, the beaver’s .....cinin. (®1) was symbolic. For ten years, he's been leading
B i (92) to understand what the area used to look like before the city changed
it, As Sanderson says, “There are views in this city where you cannot see, except for a
person, ancther living thing, Not a tree or a plant. How did a place become like that?’

1) showed up 2) that it showed up

3) show up 4) which showed up

1) where is the beaver 2) where the beaver came

3) where did the beaver come 4) the beaver where came

1) although 2)if 3) however 4) when

1) herd 2) supply 3) culture 4) appearance
1) tour 2) point 3) project 4) combination

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is
followed by four guestions. Answer the questions by choosing the best choice (1),

(2), (3), or (4). Then mark your answer sheef.

Passage 1:

Dwarf planets are like the solar system's gight planets, but smaller. They orbit the Sun
but are not moons, Today, sciéntists have classified 5 dwarf planets including Pluto,
which was originally the ninth planet until 2006. It is so far away that astronomers can
hardly see it, even with the most powerful telescopes. Pluto is only 2,200 km in
diameter, even smaller than our moon.Because Plute has an orbit around the Sun which
is very elliptical, there are times when it crosses Neptune's orbit and once every 248
years for a period of 20 years, Neptune is'farther from the Sun than Phuto.

When it gets nearer to the Sun, Pluto has more of an atmosphere. The frozen gas
melts a bit and even clouds sometimes form, When it moves away from the Sun again
the atmosphere freezes and falls back to the surface. The gravity on Pluto is only about
8% of the gravity on Earth. If you weigh 70 kg on earth, you would weigh only about 5
kg ‘on Phato. It is very, very cold and the Sun can only be seen as a very tiny spot.
Tempetatares ¢an go down to - 240° C, Pluto's only moon, Charon, i almost the gize of
Pluto itself.

What is the main function of the passage?

1) To discuss dwarf planets in the solar system

2) To provide some general mformation about Pluto

3) To compare and contrast planets and dwarf planets

4) Te explain why Pluto is not considered the ninth planet anymeore
It ¢an be nnderstood from paragraph 1 that Neptume ..uoesmssemssns '
1) ig even gmaller in diameter than Pluto

2) is normally closer to the Sun than Phuto

3) has the most elliptical orbit in the solar system

4) i considerably farther from the Sun than Pluto
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When is it less likely for Pluto to have clouds?

1) When it is farther from the Sun 2) When it is nearer to the Sun
3) When is has an atmosphere 4) When its gravity is weaker
According to the second paragraph, the gravity on Pluto is. s s

1) zero when it hag no atmogphere

2) stronger when Pluto is nearer to the Sun

3) about 8% more than the gravity on Earth

4) congiderably weaker than the gravity on Earth

Passage 2:

There are a lot of benefits to using renewable energy. First, natural energy resources are
found over wide geographical areas, in contrast to non-renewable resources, which exist
only in a limited number of countries, In addition to.hat; rapid development of
renewsable enerpy and energy efficiency is resulting in significant energy security,
climate stability, and economic benefits. The results of a recent review of the literature
concluded that as greenhouse ges emittery beginto be held responsible for damages
resulting from greenhouse gas emissions resulting in ¢limate change, it would provide a
powerful incentive for using renewable energy technologies.

There are other undeniable advantages of renewable energy, Renewable technologies
are suited to rural and remote areas and developing countries, where energy is often
crucial in human development. Former United Nations Secretary-General Ban Ki-moon
has szid that renewable energy has the ability to lift the poorest nations to new levels of
prosperity. Besides, as most renewables provide electricity, renewable energy use is
often applied together with further glectrification, which has many benefits including the
capacity to be converted te heat ‘and genémte higher temperatures than fossil fuels.
Globally, there are an estimated 7.7 million jobs associated with the renewable energy
industries. As of 2015 worldwide, more than half of all new electricity capacity installed
was renewable.

Which ef the following is stated in paragraph 1 about renewable energy?

1) Renewahle energy systems are expensive but are rapidly becoming more efficient.

2) Renewable energy requires natyral resources which exist in a limited number of
coumiries.

3) More tegions of the world have access io renewable energy resources than non-
renewable regources.

4) According to a recent literature review, there is strong public support for promoting
renewable gomrees such as solar power and wind power.

The word “incenfive” in paragraph 1 is closest in meaning to .

1) reason 2) method 3) fact 4) guideline

All of the following are specifically mentioned In parsgraph 2 as places fer which

renewable energy is appropriate EXCEPT vcecisinn

1) cities 2) villages

3) less developed countries 4) areas far from towns and cities

According fo paragraph 2, renewable electricity

1) is provided by all renewable energy technologies

2) can provide higher levels of heat compared to fossil fuels

3) has offered jobs to around 7.7 million people around the world

4) has satisfied more than 50 percent of all electricity demand worldwide as of 20135




